
https://www.pass4itsure.com/c2140-046.html
2024 Latest pass4itsure C2140-046 PDF and VCE dumps Download

 

 

 

C2140-046Q&As

DOORS v9

Pass IBM C2140-046 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/c2140-046.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C2140-046 Practice Test | C2140-046 Study Guide | C2140-046 Braindumps                                1 / 3

https://www.pass4itsure.com/c2140-046.html
https://www.pass4itsure.com/c2140-046.html
https://www.pass4itsure.com/c2140-046.html


https://www.pass4itsure.com/c2140-046.html
2024 Latest pass4itsure C2140-046 PDF and VCE dumps Download

QUESTION 1

What is the containerused to store similar relationship types? 

A. folder 

B. linkset 

C. link module 

D. formal module 

Correct Answer: C 

 

QUESTION 2

Which methodis used to limit everyone to read access at the database level? 

A. inheritance 

B. propagation 

C. remote access 

D. specific access 

Correct Answer: D 

 

QUESTION 3

Which command installs an additionalDOORS server for deployment purposes? 

A. doors -minstall 

B. doorsd -minstall 

C. doorsdb -minstall 

D. net start "DOORS DB Server 9.0 00001" 

Correct Answer: B 

 

QUESTION 4

What are three differencesbetween projects and folders? (Choose three.) 

A. Projects can be partitioned and archived; folders cannot. 

B. Projects have unique names within the database; folders do not. 
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C. A Change Proposal System can be created for a project but not for a folder. 

D. A project can be converted into a folder; a folder cannot be converted into a project. 

Correct Answer: ABC 

 

QUESTION 5

According to best practice, how many default linkset pairings should be defined between any two source-target module
pairs? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: A 
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